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Question 1.Select the related word/letters/numbers from the given alternatives:
&3 M forepea A & Haf=aa e/ 31erl/den & gl

FINGERS : HAND :: 7 : FEET

Sfeft: grr 7 R

Options:

1) NAILS
g

2) TOES
WY a3
3) ANKLE

g
4) HEELS
qfsut

Correct Answer: TOES
R & el

Candidate Answer: TOES
WA 3

Question 2.Select the related word/letters/numbers from the given alternatives:
A M Rreneul § @ afAa <1/ 91erRi/<en & 9Tl

OOQR: QQST :: UUWX: ?

Options:

1) WWYZ

2) YYWZ

3) ZZWY

4)YYZZ
Correct Answer: WWYZ
Candidate Answer: WWYZ

Question 3.Select the related word/letters/numbers from the given alternatives:
20 T faeeat & @ Tafaa srea/s1eRl/<war @l gRg)

342:453::831:?

Options:

1) 720

2) 740

3)922

4) 942
Correct Answer: 942
Candidate Answer: 942

Question 4.
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For the following questions

Find the odd word/letters/number from the given
alternatives.
(A) Barbarous (B) Uncivilized (C) Gentle (D) Wild

f&q Tq fdehetl H I fauH 2Mec/TEAT/ J1eR/IET T
(A) R (B) 31997 (C) hiHet (D) STiedt

Options:

1) A

2) B
3)C
4)D

Correct Answer: C
Candidate Answer: C

Question 5.

For the following questions
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Find the odd wORI/1ERERS /IS -FBFH'EHR given
alternatives.

f&q 7Tq faeheut & 9 faww 2rea/d¥e/ seR/n gi-u|
(A) BCE (B) WXZ (C) MNP (D) GHK

Options:
1) A

2) B
3)C
4)D

Correct Answer: D
Candidate Answer: D

Question 6.

For the following questions

Find the odd word/letters/number pair from the given
alternatives.

f&q 7Tq facheat & 9 faww <rea/dwemn/ st/ g IHy|
(A) 48:134 (B) 40:110 (C) 18:48 (D) 30:80
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Options:
1) A

2) B
3)C
4)D

Correct Answer: C
Candidate Answer: C

Question 7.Arrange the following words as per order in
the dictionary.

Frfofd 2reat ol Teganler & i & AR Fafd Hifd |

1. Modicum 2. Modal 3. Mode 4. Modifier
Options:
1) 2,3,1,4
2) 2,3,4,1
3)3214

4) 3,2,4,1
Correct Answer: 2,3,1,4
Candidate Answer: 2,3,1,4
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Question 8.In tR&'YNET LEN Y8 BHY ®PATTS Pnissing.
Choose the correct alternative from the given ones that
will complete the series.

f&q 7Y 31ehH | ek UG o 81 feU Y faeheul & O g gl
faeheT AT STt SIIchH bl TRT e

XBC,WFG,VJK,?
Options:
1) XGH

2) UNO
3) YFG

4) WKL
Correct Answer: UNO
Candidate Answer: UNO

Question 9.Which number will complete the series?

Rt § & Ry 7y Rieredi § @ ag ag) Rigrea g ot Siof
&) qof & 2

0,1,4,15,7,325,1956
Options:
1) 60
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4) 80
Correct Answer: 64
Candidate Answer: [ NOT ANSWERED |

Question 10.Pointing to a lady in a photograph, Meera
said, "Her father's only son's wife is my mother-in-law".
How is Meera's husband related to that lady in the photo?

thict # fohddt Afge ot fiard g7 #RT A gl “Iqeh fUdT & YA
O & Ut A8 Irg-AT & | kT & ufy ot wie) & e a7s Afge

Correct Answer: Nephew

:

Candidate Answer: Nephew
Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 11.Five people A,B,C,D and E are sitting in a row
facing you such that D is on the left of C and B is on the
right of E. A is on the right of C and B is on the left of D. If
E occupies a corner position, then whose sitting in the
centre?

Uid <<k A,B,C,D 3R E 3TUch TTHA Hg hich Ych Ulh | 39
UhR 38 8 foh D, C & i 3R g 3R B,E h arff 3R 81 A, C
erdf 3R & 3R B, D & 91df 3R 81 afe E o< H d&1 81, at tfxh &
T H ST 8 ?

Options:

1) A

2) B
3) C

4)D
Correct Answer: D
Candidate Answer: D

Question 12.From the given alternative words, select the
word which cannot be formed using the letters of the
given word:

ffefead fasheal & O ag rsg gD St 3T 1T 2reg & et ol
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INTROSPECTION

Options:
1) INSPECTION

2) SCOPE
3) SECTOR

4) ROUTE
Correct Answer: ROUTE
Candidate Answer: ROUTE

Question 13.1f I=9 and SLIP=56, then FALL= ?

gfe 1=9 3R SLIP=56 &, al FALL=?

Options:
1) 21

4) 51
Correct Answer: 31

Candidate Answer: 31
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Question 14.If RoRATgLrom W gRatRs.in' megns '+
and 'x' means '-', then 36x12+4+6+2-3="7?

AR+ T e B, e X, o o & iR X o e
g'-' 8 af 36x12+4+6+2-3=?

Options:
1) 2

2)61/2
3) 18

4) 42
Correct Answer: 42
Candidate Answer: 42

Question 15.Some equations have been solved on the
basis of a certain pattern. Find the correct answer for the
unsolved equation on that basis.

feRd} TOTTelT & HATYR WR ged HIRIUT gl fohd T8 g1 fdchet b
U ¥ 3 T IR I # O gt 7 fhd T 9T ot IR
fefora

8x7/x6=765
5x3x2=421
Ox6x4="
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1) 583

2) 853
3) 841

4) 481
Correct Answer: 853
Candidate Answer: [ NOT ANSWERED |

Question 16.Find the missing term in the following
guestion:-

f&q 7Y IR | ¥ e G A1 hifsid |

s 5w
Oi)ltion:: ?
1) 56
2) 12
3) 120
4) 51

Correct Answer: 120

v.s.F\ﬁW'ﬁlﬂSﬁwémW%hl gpfree study materials and latest exam updates.



Downloaded from www.qmaths.in

Question 17.Ajit, starting from a fixed point, goes 10 m
towards North and then after turning to his right he goes
10 m. Then he goes 5,10 and 10 meters after turning to
his left each time. How far is he from his starting point?

315t Yo (AT famg 9 o1 & ohch IR <hl 3R 10 HieR
TeldT 8, T ST 3R geae 10 HieR Terdr 81 fhR ag &R &R
30+ 1T STR Jgen 5,10 3R 10 HIR Teldar g1 dg 39 o< &
fohdIT oX & STgl ¥ I TeT-T UIRFH fohar 47 ?

Options:

1) 15m

15 9.

2) 10 m

10 =

3)5m

5 .

4)3m

3 9.

Correct Answer: 5 m

5 H.

Candidate Answer: 10 m

10 H.

Question 18.Consider the given statement/s to be true
and decide which of the given conclusions/assumptions
can definitely be drawn from the given statement.
Visit www.gmaths.in for tons of free study materials and latest exam updates.



Statement: Hor&¥ty 78 4pe 985 yitieyaths.in
Conclusion

I: All should be honest.
Il: Only some people should be honest.

Fafafad uyr & uah a1 & a<hed & T 8, fSigeh o1t &f fAsepnl/
AT=dTg, | 3R || fertal T &1 31Ukl faaR &A1 8 T a<hed I
2 e I8 9TH=Id: d / 9t & {9 udia giar g1l smuent Aot
AT 8 foh 13U 71T a<hed # O o971 [Afgd w0 @ ggt s/
AT dT fAehTetT ST 9ehdT § ?

hU ; |-SAMER Tag ot Aifd 21

freeqe:

|- Gech! SAFER gIFT dTiaq | feeht:

|I-chleT e Tl <hl SHTGR BIHT AT T

Options:

1) Only conclusion | follows
cheel sy | gl g

2) Only conclusion Il follows
chad sy || T8t gl

3) Both conclusion | and conclusion Il follow

frseptf | ofiz fAseRt | @+t 9t &1

4) Neither conclusion | nor conclusion Il follows

9 A=y | gl g 3R 7 [Feeqd ||

Correct Answer: Only conclusion | follows

chadl sy | 98l 2|

Candidate Answer: Only conclusion | follows

chael (shy |
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Question 19.Find the number of triangles in the figure.

feq g U 75 H foha Aysi @ ?

NS

Sy, T

k
7 ALY
Y T

Options:
1) 14

4) 20
Correct Answer: 15
Candidate Answer: 20

Question 20.Which one of the following diagram
represent the relationship among Parliament, Council of
Ministers and Prime Minister?

e & O F-971 3 I4g, H3if uRug 31k UUT=HAT T
ST e SRIdT § ?

Options:
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3)
4)

ko
(O

Correct Answer:

©

Candidate Answer:

©
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Question 21.In QRIS EHFAE PV WHREPPHTTSWer will
complete the pattern in the question figure?

hIF-8T IR SMTepid U HThid & UTdXY ohl R hft ?

Oﬁtiohé:_

ﬁ‘lﬁﬁ)ﬁﬁﬁﬁﬁﬁﬁﬁ'
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Question 22.From the given answer figures, select the one
in which the question figure is hidden/embedded.

&Y T8 IR SR & ¥ IR 31l ot AT s U= simepfa
fAafga g1
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Options:

1)

2
;| - _C
3)
i'__) EEEEE T
T

Correct Answer:
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Question 23.A piece of paper is folded and cut as shown
below in the question figures. From the given answer
figures, indicate how it will appear when opened.

U SMpiaal # fEE@Y AR HITST hl AISHR hicA TUT WielH
oh dTC g fohd IR STTRfd ST g &I 2

feifmuIeEn

D

i .
- 0

- ‘..__‘_" 4
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. |
| -
- .

1 | Wik

Correct Answer:

—l\ T A

Nt
cl-

Candidate Answer: [ NOT ANSWERED ]

Question 24.If a mirror is placed on the line MN, then
which of the answer figures is the right image of the given
figure?

i Yeh GUUT el MN 3T UR IGT ST 1 &1 775 S<iR AThiadl # &
hI--H1 HThid U 3MTehid <hl Tat ufdfdw it ?

Ny

I
Nk
L/

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Downloaded from www.qmaths.in

Options:

1)

2)

Correct Answer:

Y

Candidate Answer:
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Question 25.In this question, the sets of numbers given in
the alternatives are represented. The columns and rows
of Matrix | are numbered from 0 to 4 and that of Matrix Il
are numbered from 5 to 9. A letter from these matrices
can be represented first by its row and next by its column,
e.g., A can be represented by 03,55, etc., and 'P' can be
represented by 10, 44, etc. Similarly you have to identify
the set for the word '‘BOAT".

Qch MG chael Ueh SEIT-THg gRT &A1 7T 8, S foh faehett |
T et ues H e mar @1 faehed & fQQ g Tvem Tg orerki & o
I gRT =TT 7Y 8, i fok A1 fdu Ty f sreggi A 81 sregg | &k
T MR IR AT G0 T 4 R M I N 5T 9 7S &1 &
gl & Yeh &R ohl Ugel IHch! Uxhl 3R d1E H T+ HE&AT GRI
CRITIT ST JahdT g1 I&T8X0T oh 1T ‘A’ aht 03, 55 31T gRT 1T
STT GehdT & dAT 'P ' &bl 10, 44 311fE GIRT &I ST GehdT 5| 341
g 9 3MUchi {AT §U 2rsg 'BOAT' & {1 9Hg ohl Uga=-T1 2|
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5 6 7 9

3 W 5 B Q 1

Options:
1) 67,86,55,40
2) 32,86,77,68
3) 78,33,55,44

4) 67,86,31,40
Correct Answer: 67,86,55,40
Candidate Answer: 67,86,55,40

Question 26.Saving is that portion of money income that
IS .....

Id AT A hT g8 UNT e o ...

Options:
1) spent for development of Industries

:@Tﬁa;ﬁzﬁrﬁasﬁqaﬁﬁmw@

2) not spent on consumption

O IuMhT IR @ Agt fhar STaT|

3) spent on health and education

S Tareeg ug fRrefm wR = fehar SIrdi 8|
VlSlfI\)/&R/%aftﬂgﬁ%ﬁmegf%@st%%§ materials and latest exam updates.




e Iustterar Grafy (fEass) e fasminygie

Correct Answer: not spent on consumption

T gy uR @ A8t fohar Srarn|

Candidate Answer: not spent on consumption

S IUMIT R @< Agi fhdT STdT|

Question 27.In which field did Amartya Sen win the Nobel
Prize ?

HG T 7 fohd &7 | Alele] REPR ST 8 ?

Options:
1) Micro Economics
g&H STATH

2) Welfare Economics
heTUT AU

3) Economic Growth Model

anfefer faamra ATea

4) Input-Output Model

Far-3dre Ared

Correct Answer: Welfare Economics
heToT AT

Candidate Answer: Micro Economics
g&H ST

Question 28.Raja Ravi Varma was a great painter of which
of the following ?
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ST A AT hal oh A R & ?
Options:

1) Bengal

[T

2) Bihar

fogr

3) Punjab

BINIG
4) Kerala
hdT

Correct Answer: Kerala

hdd
Candidate Answer: [ NOT ANSWERED |

Question 29.Who was the founder of the Theosophical
society of India?

VR <h! AT Thchel TIATSET o TXATUS chi &/t 2
Options:

1) Annie Besant

ot s

2) Womesh Chandra Bannerjee

GIENIGEACE ]

3) Ram Prasad Bismil

I g fafee

4) Subhash Chandra Bose

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Correct Answer: Annie Besant

Ut s

Candidate Answer: Annie Besant

Ut s

Question 30.Who coined the Chipko slogan "Ecology is
Permanent Economy"?

Fgen! ART "OTRIATT Y T srefegawer & " foha Ter a1 ?
Options:

1) Chan Prasad Bhatt

I UG 9IS

2) Sundarlal Bahuguna

Jagedlel Sgom
3) Shayam Prasad Bahuguna

ITH UG gl

4) Bachni Devi

=T &t

Correct Answer: Sundarlal Bahuguna

Faxedled dgul
Candidate Answer: [ NOT ANSWERED |

Question 31.Which of the following is Study of fossils ?
ST (WITRed) o 37T hl T chgd 87

Options:
Visit www.gmaths.in for tons of free study materials and latest exam updates.
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ST MM

2) Etiology

gq fagm

3) Anrt\hropology
S IECACEIE

4) Palaeontology
Sttars# fasm

Correct Answer: Palaeontology

Sitared fagm™

Candidate Answer: Palaeontology

Sitared fagm=

Options:

1) must be same

A giF aried

2) must be different
fA=1-fo=1 g =g

3) need not be same
YA g1 31Tk ol § |
4) need not be different

I =1-f9—1 1T S1Tageh A8l & |

Correct Answer: must be same

A g =1ied

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 33.Which of the following is the operation
executed on data stored in registers?

oIt & dferd Srer iR fAsuried SiTuRRI ot &RiT shgd 82
Options:

1) Bit-operation

fere-SiTaRe™

2) Macro-operation

Hehl-STaRRA

3) Micro-operation

HTSchI-ATURRA

4) Byte-operation

T3-SR

Correct Answer: Micro-operation
HTSchI-SATURRA

Candidate Answer: Bit-operation

IERECILEEE]

Question 34.Sour taste of lemon is due to the presence of
which of the following ?

i 1 @eT @1 fohadhl HiSEl & hRUT g1 8 ?

Options:
1) Citric acid
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2) Acetic acid

qfifee gefts

3) Oxalic acid

3ffcpdfcieh TS

4) Formic acid

thitHeh TS

Correct Answer: Citric acid
SIEFLYE

Candidate Answer: Citric acid

qrsieeh TS

Question 35.Which State has the longest coastline?

fohg 5T § 9o ol ded@r g ?
Options:

1) Andhra Pradesh

SAT=¢T TeRT

2) Maharashtra

HEIRTS

3) Gujarat

4) Karnataka

helch

Correct Answer: Gujarat

HSNEG)

Candidate Answer: Gujarat
Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 36.Which among the following cities in India is
not located in Golden Quadrilateral Road Network?

YRd H AR |§ & -9 g @l Iqes anf Aedd |
g gl g ?

Options:

12 Kolkata

chlcTehIdl

2) Mumbai

TS

3) New Delhi
13 feett
4) Chandigarh
JUSHIG

Correct Answer: Chandigarh

JUSHTG

Candidate Answer: New Delhi

g feeett

Question 37.Which is the first Indian State to go wholly
organic ?

quiddT ShTeleh (SR ) T dTell UUH HRAT AT hI=-A1 8 ?

Options:
Visiil\)/M\QgthJﬁQ{ﬁ'\ for tons of free study materials and latest exam updates.
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2) Sikkim
faferrm

3) Manipur

4) Assam
STHH

Correct Answer: Sikkim

fafaera
Candidate Answer: [ NOT ANSWERED |

Question 38.What is the role of "Ombudsman” in a bank?

ok | 'STHISHH' <hl RIT YfHehT g ?

Options:

1) To provide quality and speedy redressal of grievances
of customers.

UTgehl <hl fARRIAT T Icchtse 3TR g HaRT ST

2) To provide suggestions for innovative schemes in the
banks.

dopt & SifHa gierTeT & folg geama &l

3) To inspect the internal working of the branches.
IRAT3TT ch JTIReh hIH hTST Sl [HARIETOT R

4) To monitor the poverty alleviation programmes
undertaken by or implemented by the bank.

ok GRT & ThT T 7 fehaniad TRI Il hRichHAT <hl
HIfAeR heATI
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Correct AnsweP 18 BovAde Gualty BKE §ptedy redressal
of grievances of customers.

UTgen! ch! fRARTIT hl Ichte STR g IR hT|

Candidate Answer: To provide quality and speedy
redressal of grievances of customers.

UTgen! chl fRARTIL hl Ichte SR g IR hAT|

Question 39.Which of the following schedules contains
special provisions for the administration of tribal areas in
the four north-eastern states of Assam, Meghalaya,
Tripura and Mizoram

ffefea & 9 fohg St A srgH, Ay, BgRT ok fAsika &
IR YdicaR ATl | STASIIT 831 ch YT <hl {92 UTaer g ?

Options:
1) First schedule

U ST

2) Second schedule

?;ﬂﬂaa?ﬁﬁ

3) Third schedule

et STl

4) Sixth schedule

Badi It

Corrgct Answer: Sixth schedule
Badi It

Candidate Answer: [ NOT ANSWERED |
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Question 40.WRS'4psitts eHEHEBRTS T the State
Public Service Commission ?

Y wIich |l 3TN oh e&i <hl g i<h i shar g ?
Options:

1) Chief Minister

q&g HAl

2) Governor

YUl

3) Chief Justice

g =g efier

4) Vice President
SURTSCUfd

A

Correct Answer: Governor
STl

Candidate Answer: [ NOT ANSWERED |

Question 41.Who was the first Indian to be elected as the
leader of the Communist International?

I8 UUH YRAN 9 AT 8 hrgfAe exHHe o1 AdT1 Aditaa
feha T 91 ?

Options:
1) Jawaharlal Nehru
STATER AT Ag%

2) P.C. Joshi

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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3) Sardar Vallabhai Patel
TRER TooT¥ 15 U

4) M.N Roy

TH.TA.3T

Correct Answer: M.N Roy

TH. Q.3

Candidate Answer: [ NOT ANSWERED ]

Question 42.What is the source of natural energy of the
hot springs at Manikaran in Himachal Pradesh ?

feHTae USSr | HiUIhUT | TH RHAT <hl UThldeh 3ol ohl |l T
g7

Options:

1) Geothermal Energy

YT FHofl

2) Biomass Energy

TR Sl

3) Thermal Energy
SIERSI

4) Hydro Energy
STl ol

Correct Answer: Geothermal Energy

YT Sl
Candidate Answer: [ NOT ANSWERED ]

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 43.Which of the following is a Dominant
Autosomal Disorder ?

fefeiRad & 9 o Mol R srega=en (Sifaq= s aad
feaamer) g 2
Options:
1) Albinism
gfeafasH

2) Cystic Fibrosis
foedter trrgsife
3) Phenyl Ketorunia
fOh-ITSeT chaletaaT
4) Alzheimer's Disease
STASITEHR AT

Correct Answer: Alzheimer's Disease
3TASITZHR T

Candidate Answer: [ NOT ANSWERED |

Question 44.Glycol is used to manufacture which of the
following ?

TATSehIl ohl UANT fohgah AAfor & fhar strar g 2

Options:

1) Nylon
EIESIE]

2) Artificial silk
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3) Terylene
et

4) Rubber
SN

Correct Answer: Terylene

R
Candidate Answer: [ NOT ANSWERED ]

Question 45.The movement inside the Earth's crust is
studied by which of the following ?

gedt <hl URd oh HIdR <hl geldiel ohl 10T fchdch gIRT fohdT STl
g7

Options:

1) Geology

-t

2) Seismology

Yhr a7

3) Plate tectonics

wie faadfAdt
4) Pantograph
AT

(F=HITh)

Correct Answer: Seismology

CRIGI

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 46."Lona" is related to which game?

AT g @ dgEg g ?
Options:

1) Kho Kho

Ql-@t

2) Kabbaddi

Hagl

3) Lawn Tennis
-2
4) Badminton

Seff

Correct Answer: Kabbaddi

Hagl

Candidate Answer: [ NOT ANSWERED |

Question 47.Ten thaats or scales, belong to which system
of music?

g TS IT WU, TITd <hl fohd UuTTel] €@ 9waf-ad g ?

Options
) Hindustani Music

f%fcﬁ#‘rwﬂﬁ

VlSl?\)/\EngnMHé'ﬁi for tons of free study materials and latest exam updates.
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3) Chinese Music

T St
4) Western Music
qIaTy Siftd

Correct Answer: Hindustani Music
? g .

Candidate Answer: [ NOT ANSWERED ]

Question 48.Which one among the following components
can not be developed within an "integrated circuit"?

el ® € hI9-91 ek Yehlopd URUY oh HiaR gl s Hehdl
g7

Options:

1) Diode

S

2) Triode

arars

3) Transformer

SIghTH

4) Transistor

Al Erkd

A

Correct Answer: Transformer

CIghTHT

A

Candidate Answer: Transformer
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Question 49.What is the transplantation of graft between
genetically identical individuals ?

TNk U & FHH <gixhdl o s URIYUT hl R—IT hgd 8 ?
Options:

1) Autograft

3T The

2) Isograft

3) Allograft

4) Xenograft

Correct Answer: Isograft

IECAID LT
Candidate Answer: [ NOT ANSWERED |

Question 50.Yogeshwar Dutt is associated with which
sport?

HIER Ged b DT A TS 8 ?

Options:
1) Discus Throw

fewng ot
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3) Shooting
ERUGKLN

4) Pole Vault

Ot dice

Correct Answer: Wrestling
et

Candidate Answer: Wrestling

et

Question 51.Number of composite numbers lying
between 67 and 101 is

67 3R 101 <h & foha=t YTsg G 8 ?

Options:
1) 27

4) 23
Correct Answer: 27/
Candidate Answer: [ NOT ANSWERED |

Question 52.A dealer allows a discount of 15%. A
customer pays an amount of Rs. 318.75 for an article. At
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Qeh fershdl 15% <hl BT T 81 ehls UTgeh fehdt a¥] o felg Rs.
318.75 hl A 3T AT | G <hl I hIAd AT hifed ?
Options:

1) Rs. 366.50

2) Rs. 375.00
3) Rs. 350.00

4) Rs. 431.25
Correct Answer: Rs. 375.00
Candidate Answer: Rs. 375.00

Question 53.The reciprocals of the squares of the
numbers 1% and 1% are in the ratio

1% 3R 1V5 & T ok GeshH fohd (Ut | giTl ?
Options:
1) 64 : 81

2)8:9
3) 81: 64

4)9:8
Correct Answer: 64 : 81
Candidate Answer: 81 : 64
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Question 54.The average of 15 numbers is 7. If the
average of the first 8 numbers is 6.5 and the average of
the last 8 numbers is 8.5 then middle number is

15 G&IT3AT ahl 3NEd 7 &1 i Ugelt 8 TIT3Y ohl 3id 6.5 &
3R 3ifdH 8 T¥aTa1i vt 31igd 8.5 gl df s areft I¥&T FATd
Hiferd 2

Options:

1) 10

4) 15
Correct Answer: 15
Candidate Answer: 15

Question 55.A man bought 25 crates of oranges for Rs.
10,000. He lost 5 crates. In order to earn a total profit of
25% of the total cost, he would have to sell each of the
remaining crates at

fengit egfch = Tl o 25 the Rs. 10000 # &R1¢ | 399 & 5 the
Gl | 3 I8 AV che H W Udeh she fohd g W o o 39!
el AT TR 25% <kl AT gl ?
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1) Rs.650

2) Rs. 625
3) Rs. 600

4) Rs. 575
Correct Answer: Rs. 625
Candidate Answer: Rs. 625

Question 56.What is the difference between 0.6 and
0.6%7?

0.6 3R 0.6% ch T <RIT 3R & ?

Options:
1) 5.94

2) 0.594

Correct Answer: 0.594
Candidate Answer: 0.594

Question 57.A man travels 34th of the distance of his

visl QHIREY RY-Busrorath by Rickshaw.andi 2 ka0 8kl dates.



total distance tPAVEIRAI B TAB rrgh Ggraths.in

1S caf<h 1O AT it 3/4 T I |, 1/6 Ra—m § ik 2
feROHT0 Uget qT hdT &1 39 <hi<h = el fohd-l ATAT <hl ?

Options:
1) 12 km

2) 18 km
3) 20 km

4) 24 km
Correct Answer: 24 km
Candidate Answer: 24 km

Question 58.The compound interest on Rs. 1000 at 10%
per annum for 3 years in (Rs.) is

3 Iy ok foTg 10% a1itieh & TR Rs. 1000 UR Tshqfeg sATST R
g ?

Options:
1) Rs. 1331

2) Rs. 331

3) Rs. 300
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Candidate Answer: Rs. 331

Question 59.

gfev3=1.732g at
2 ST HHE AT hierd ?

Options:
1) 7.169

2) 7.196
3) 5.198

4) 7.296
Correct Answer: 7.196
Candidate Answer: 7.196

Question 60.

Options:
1) -2

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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3)2

4)4
Correct Answer: O
Candidate Answer: 0

Question 61.In AABC, the medians AD and BE meet at G.
The ratio of the areas of ABDG and the quadrilateral
GDCE is

AABC # Arfedienti AD 3R BE tRER G WR fAedl 81 ABDG 3iR
FHAgHS GDCE o &3thedl ahT SIUTd HTd chifoid ?

Options:
1)1:2

4)3:4

Correct Answer: 1:2
Candidate Answer: [ NOT ANSWERED |

Question 62.

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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g ?

Options:

1) 720°

2) 360°
3) 540°
4) 180°

Correct Answer: 360°
Candidate Answer: [ NOT ANSWERED |

Question 63.

Options:
1) 30°

2) 45°
3) 60°

4) 75°

Correct Answer: 30°

Visi M?\[/'vqlgrgg 'so‘lrr|1 ‘gﬁ{)h‘s?’gf free study materials and latest exam updates.
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Question 64.Sashi can do a piece of work in 20 days.
Tanya is 25% more efficient than Sashi. The number of
days taken by Tanya to do the same piece of work is:

TfRY fhdl & ant 20 feT | o Oahd! g1 dT=T 399 25% 319
ceT g1 gal ohrd araT fohd= &t 7 oy et 2

Options:

1) 15

4) 25
Correct Answer: 16
Candidate Answer: 16

Question 65.

Options:
1)0

2) -1

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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4) ab
Correct Answer: -1
Candidate Answer: -1

Question 66.

- 2 e e
Fig 2x = SaxEl gidl x + 5=
2 &I AT AT P ?

Options:

31
4

Correct Answer:

19
4

Candidate Answer:

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Question 67.XYZ2 18 8 H§AT TG tATAGR And Y = 90°. If

XY =2.5cm and YZ = 6 cm then the circumradius of
AXYZ is

XYZ Qer GHAI0T AT 8 3iR2Y = 90° 81 af¢ XY = 2.5 9.4,
R YZ = 6 Q1. g df AXYZ ht uRfF<ar 31d hifsd ?
Options:

1) 6.5cm

6.5 9.4t

2) 3.25cm
3.25 9.HI.

3)3cm
3 9.4l

4)2.5cm
2.5 9.4,

Correct Answer: 3.25¢cm

3.25 9.4
Candidate Answer: [ NOT ANSWERED |

Question 68.

AABC H 2B = 5.C 3fR £A = 32C & at ~C hl A19 A1 hiferd
)

Options:
1) 45°

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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3) 20°

4) 5°
Correct Answer: 20°
Candidate Answer: 20°

Question 69.The length of shadow of a tower is v3 times
that of its length. The angle of elevation of the sun is

fehgil HIMR hl URSTS <hl oT¥aTs HIAR hl TTveTs § V3 THT 81 g
chl =11 hIUT FTd hifSI ?

Options:

1) 45°

2) 30°
3) 60°

4) none

Correct Answer: 30°
Candidate Answer: 30°

Question /0.
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Options:
1)4:1

2)1:4
3)1:2
4)2:1

Correct Answer: 1:4
Candidate Answer: 1:4

Question /1.

Options:
1) 1

2) 3
3) 2

4) Yo

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Candidate Answer: 2

Question 72.Student strength of a college in Arts, Science
and Commerce from 2004 - 2005 to 2007 - 2008 session
are shown in the following bar graph. Study the graph and
answer the questions that follow.

FEfefad IR 9T J 99 2004-2005 @ 2007-2008 < dh b
97 o ford srietor & faenfat 6t s, fase ok arforsy fawat |
I3 g1 Tt 81 UTth &l 31ed ahitoid SR fA=fefad usat &
IR ST ?

The ratio of average number of students in Science to the
average number of students in Commerce is

fasm | fentlai hY sirga T o1 arforsy faw 7 faenftat &t
T H&AT & UTd AT hitoid ?
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Options:
1)10:7

2)7:4
3) 12:5

4) 48 : 35
Correct Answer: /7 : 4
Candidate Answer: 7 : 4

Question 73.Student strength of a college in Arts, Science
and Commerce from 2004 - 2005 to 2007 - 2008 session
are shown in the following bar graph. Study the graph and
answer the questions that follow.

AEfefEd IR 91 J 99 2004-2005 @ 2007-2008 < dh b
97 o ford ahietor & faenffat &t eve, fase ofiR arforsy fawat |
I3 SR Rt 81 UTth ol 31edq ahifoiu SR fAmfeifad usat &
IR AT ?
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The increase in the number of Arts students in 2007-2008
session over that in 2005-2006 session is

a¥ 2005-2006 o I <hl 370 a8 2007-2008 & 95 H chedl h
Ryenfefat &Y T & frast oferd  afg g2 2

Options:

1) 25%

2) 21.42%

3) 27.27%

4) 37.5%

Correct Answer: 27.27%

Candidate Answer: 27.27%

Question 74.Student strength of a college in Arts, Science
and Commerce from 2004 - 2005 to 2007 - 2008 session
are shown in the following bar graph. Study the graph and
answer the questions that follow.

ffafaa IR a1k 7 a9 2004-2005 & 2007-2008 & dch &
3l H fenddl enietat | faenteal <hl ehett, faa= SR arivrsy fawat #
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IR <o ?

Approximate percentage of students in Science stream
during the session 2006-2007 is

a¥ 2006-2007 o 9 H Az fawg 7 fSentday & 9w anr
gfasrd 19 RIS ?

Options:

1) 42.31%
2) 40.91%
3) 41.26%
4) 31.42%

Correct Answer: 42.31%
Candidate Answer: [ NOT ANSWERED |

Question 75.Student strength of a college in Arts, Science
and Commerce from 2004 - 2005 to 2007 - 2008 session
are shown in the following bar graph. Study the graph and

answer the questions that follow.
Visit www.gmaths.in for tons of free study materials and latest exam updates.



Downloaded from www.qmaths.in

fAafafea = o 7 99 2004-2005 & 2007-2008 s deh &
93 § fohd arictst H faental hl sett, fasm= SR arforsy fawat &
IR ST AT 81 UTh hl 31ed ahifoiu 3R Afeifad usat &
IR Gl ?

Percentage increase in total number of students in 2007 -
2008 session over that in 2004 - 2005 session is
approximately

gy 2004-2005 < T hl 374elT a9 2007-2008 & I |
faenfefat ht et T | gieg o1 ufdsrd Fra hifsd 2

Options:
1) 29.71

2) 25.65
3) 10.56

4) 20.83

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Candidate Answer: 20.83

Question 76.In the following question, out of the four
alternatives, choose the word which best expresses the
meaning of the given word and click the button
corresponding to it.

INDOLENT
Options:

1) LAZY

2) EXPENSIVE
3) ACTIVE

4) HAPPY

Correct Answer: LAZY
Candidate Answer: [ NOT ANSWERED |

Question 77.In the following question, out of the four
alternatives, choose the word which is opposite in
meaning to the given word and click the button
corresponding to it.

INSOLENT

Options:

1) SCRUPULOUS
2) EMOLIENT

3) COURTEOUS

Visifl\)/\!vﬁ.%XIaths.in for tons of free study materials and latest exam updates.
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Candidate Answer: [ NOT ANSWERED ]

Question 78.Four words are given, out of which only one
word is spelt correctly. Choose the correctly spelt word
and click the button corresponding to it.

Options:

1) Beneficiary

2) Benificiary

3) Beneficeary

4) Benefeciary

Correct Answer: Beneficiary
Candidate Answer: Beneficiary

Question 79.In the following questions, one part of the
sentence may have an error. Find out which part of the
sentence has an error and click the button corresponding
to it. If the sentence is free from error, click the "No error”
option.

Had | been (A) / in my brother's position (B) / | would have
refused the offer. (C) / No Error (D)
Options:
1) A
2)B
3)C
4)D
Correct Answer: D
Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 80.In the following questions, one part of the
sentence may have an error. Find out which part of the
sentence has an error and click the button corresponding
to it. If the sentence is free from error, click the "No error”
option.

His parents usually spent (A) / their summer in Ooty (B) /
but this year they are spending it in Darjeeling. (C) / No
Error (D)

Options:

1) A

2) B

3)C

4)D

Correct Answer: A

Candidate Answer: A

Question 81.In the following questions, one part of the
sentence may have an error. Find out which part of the
sentence has an error and click the button corresponding
to it. If the sentence is free from error, click the "No error”
option.

He lost heart (A) / because he could not cope up with (B)
/ the difficulties in life. (C) / No Error (D)

O\Ftions:
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Correct Answer: B
Candidate Answer: [ NOT ANSWERED |

Question 82.The sentences given with blanks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
to it.

Due to heavy rains, the match was called :
Options:

1) of

2) off
3) down
4)

out

Correct Answer: off
Candidate Answer: off

Question 83.The sentences given with blanks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
toit.
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new curriculum.

Options:

1) go fixed

2) go about

3) go ahead

4) go around

Correct Answer: go ahead

Candidate Answer: go ahead

Question 84.The sentences given with blanks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
toit.

Mount Everest has earned the distinction of being

the world's highest garbage dump.

Options:

1) marked

2) disgusting

3) dubious

4) dismal

Correct Answer: dubious

Candidate Answer: [ NOT ANSWERED |

Question 85.In each of the questions, four alternatives are

given for the Idiom/Phrase. Choose the alternative which
Visit www.gmaths.in for tons of free study materials and latest exam updates.



best expresses W IPREEAiHGO T e85/ Phrase and
click the button corresponding to it.

As daft as a brush

Options:

1) Extremely silly

2) Artistically inclined

3) Completely clean

4) Utterly selfish

Correct Answer: Extremely silly

Candidate Answer: [ NOT ANSWERED |

Question 86.In each of the questions, four alternatives are
given for the Idiom/Phrase. Choose the alternative which
best expresses the meaning of the Idiom/Phrase and
click the button corresponding to it.

In a nutshell

Options:

1) In translation

2) A decorative language

3) A well-packed parcel

4) Briefly and concisely

Correct Answer: Briefly and concisely

Candidate Answer: A well-packed parcel

Question 87.In each of the questions, four alternatives are

iven for the Idiom/Phrase. Choose the alternative whic
Visi www.qmatlbs.inQOr tO{IS o{ﬁ'ee stugy matergls an(ﬂatest exam updates.



best expresses W IPREEAiHGO T e85/ Phrase and
click the button corresponding to it.

Strain every nerve

Options:

1) Try all tricks

2) Work very hard

3) Beg before others

4) Spend a large amount
Correct Answer: Work very hard

Candidate Answer: Work very hard

Question 88.0ut of the four alternatives, choose the one
which can be substituted for the given words/sentences
and click the button corresponding to it.

Proposition made as a basis for reasoning without the
assumption of its truth

Options:

1) Hypertext

2) Hypocrisy

3) Hyperbole

4) Hypothesis

Correct Answer: Hypothesis
Candidate Answer: Hypothesis

Question 89.0ut of the four alternatives, choose the one

Visiw \Ahv!/(v:vhq(r:naart]hlg.? n§g rb t%ﬁg%@rdegghwyengai’ye?%I\sNa(\)nrcg Isaég’sqrg(earr}lcue de ates.



and click the b(YAIBITREBBYtHGABALS ™"

Indifference to pleasure and pain
Options:

1) Perseverance

2) Tolerance

3) Stoicism

4) Radicalism

Correct Answer: Stoicism

Candidate Answer: Stoicism

Question 90.0ut of the four alternatives, choose the one
which can be substituted for the given words/sentences
and click the button corresponding to it.

No longer a child, but not yet an adult

Options:

1) Youngster
2) Adolescent
3) Juvenile

4) Yokel

Correct Answer: Adolescent
Candidate Answer: Juvenile

Question 91.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct

alternative and click the button corresponding to it. In
Visit www.gmaths.in for tons of free study materials and latest exam updates.



case no improVEHBREFE hsegay  ¢irkethe Button
corresponding to "No improvement”.

| bought four dozen of mangoes
Options:

1) dozens of mango

2) dozens of mangoes

3) dozen mangoes

4) No improvement

Correct Answer: dozen mangoes
Candidate Answer: [ NOT ANSWERED ]

Question 92.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

| have still to meet a person who is perfectly satisfied with
his job.

Options:

1) would meet

2) am yet to meet
3) might still meet
4) No improvement

Correct Answer: am yet to meet

Candidate Answer: am yet to meet
Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 93.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

Would you find one absent, please don't forget to leave a
message behind.

Options:

1) As you find

2) Should you find

3) Unless you find

4) No improvement

Correct Answer: Should you find
Candidate Answer: [ NOT ANSWERED |

Question 94.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

Kim is too impatient with tolerating any delay.
Options:
1) at tolerating
Visig\)/waglﬁr‘éylmﬂ)r tons of free study materials and latest exam updates.
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4) No improvement
Correct Answer: to tolerate
Candidate Answer: to tolerate

Question 95.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

| purposely did that with a view to offend her.
Options:

1) with a view of offending her

2) with a view that | offend her

3) with a view to offending her

4) No improvement

Correct Answer: with a view to offending her
Candidate Answer: with a view of offending her

Question 96.A passage is given with 5 questions following
it. Read the passage carefully and choose the best answer
to each question out of the four alternatives and click the
button corresponding to it.

The antigen-antibody immunological reaction is used to

Visit www.gmaths.in for tons of free study materials and latest exam updates.



be regarded asRyPitAGH iMUIGISGIREFf8sponses.
Antibodies are proteins synthesized by specialized cells
called plasma cells, which are formed by lymphocytes
(cells from the lymph system) when an antigen, a
substance foreign to an organism's body, comes in
contact with lymphocytes. Two important manifestations
of antigen-antibody immunity are lysis, the rapid physical
rupture of antigenic cells and the liberation of their
contents into the surrounding medium, and phagocytosis,
a process in which antigenic particles are engulfed by and
very often digested by macrophages and polymorphs. The
process of lysis is executed by a complex and unstable
blood constituent known as complement, which will not
work unless it is activated by a specific antibody; the
process of phagocytosis is greatly facilitated when the
particles to be engulfed are coated by a specific antibody
directed against them.

One of the two important manifestations of antigen-
antibody immunity is lysis while the other is
Options:

1) lymphocytes

2) plasma

3) antigenic cells

4) phagocytosis

Correct Answer: phagocytosis

Candidate Answer: phagocytosis

~ Question 97.A passage is given with 5 questions followin
Visit www.gmaths.in for tons™of fre€ study materials and latest exam updates.



it. Read the pas3atfd CArEF iRy NG cHBISE the best answer
to each question out of the four alternatives and click the
button corresponding to it.

The antigen-antibody immunological reaction is used to
be regarded as typical of immunological responses.
Antibodies are proteins synthesized by specialized cells
called plasma cells, which are formed by lymphocytes
(cells from the lymph system) when an antigen, a
substance foreign to an organism'’s body, comes in
contact with lymphocytes. Two important manifestations
of antigen-antibody immunity are lysis, the rapid physical
rupture of antigenic cells and the liberation of their
contents into the surrounding medium, and phagocytosis,
a process in which antigenic particles are engulfed by and
very often digested by macrophages and polymorphs. The
process of lysis is executed by a complex and unstable
blood constituent known as complement, which will not
work unless it is activated by a specific antibody; the
process of phagocytosis is greatly facilitated when the
particles to be engulfed are coated by a specific antibody
directed against them.

What are antibodies?

Options:

1) Minerals in the cells
2) Proteins

3) Synthesized proteins

~ 4) Dead cells ,
Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Candidate Answer: Synthesized proteins

Question 98.A passage is given with 5 questions following
it. Read the passage carefully and choose the best answer
to each question out of the four alternatives and click the
button corresponding to it.

The antigen-antibody immunological reaction is used to
be regarded as typical of immunological responses.
Antibodies are proteins synthesized by specialized cells
called plasma cells, which are formed by lymphocytes
(cells from the lymph system) when an antigen, a
substance foreign to an organism'’s body, comes in
contact with lymphocytes. Two important manifestations
of antigen-antibody immunity are lysis, the rapid physical
rupture of antigenic cells and the liberation of their
contents into the surrounding medium, and phagocytosis,
a process in which antigenic particles are engulfed by and
very often digested by macrophages and polymorphs. The
process of lysis is executed by a complex and unstable
blood constituent known as complement, which will not
work unless it is activated by a specific antibody; the
process of phagocytosis is greatly facilitated when the
particles to be engulfed are coated by a specific antibody
directed against them.

What happens when an antigen comes in contact with

lymphocytes?
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1) Antibodies are destroyed
2) Plasma cells are formed
3) Proteins are synthesized
4) Old cells are restored

Correct Answer: Plasma cells are formed
Candidate Answer: Proteins are synthesized

Question 99.A passage is given with 5 questions following
it. Read the passage carefully and choose the best answer
to each question out of the four alternatives and click the
button corresponding to it.

The antigen-antibody immunological reaction is used to
be regarded as typical of immunological responses.
Antibodies are proteins synthesized by specialized cells
called plasma cells, which are formed by lymphocytes
(cells from the lymph system) when an antigen, a
substance foreign to an organism'’s body, comes in
contact with lymphocytes. Two important manifestations
of antigen-antibody immunity are lysis, the rapid physical
rupture of antigenic cells and the liberation of their
contents into the surrounding medium, and phagocytosis,
a process in which antigenic particles are engulfed by and
very often digested by macrophages and polymorphs. The
process of lysis is executed by a complex and unstable
blood constituent known as complement, which will not
work unless it is activated by a specific antibody; the

rocess of phagocytosis is greatly facilitated when the
Visit www.gmaths.in for tons of free study materials and latest exam updates.



particles to be BAYHITRFAEELA B S ecific antibody
directed against them.

Which of the following statement is true in the context of
the essay?

Options:

1) Antigen-antibody is a psychological process

2) Lysis is a process of forming plasma cells

3) Complement is a blood constituent

4) Antigen is part of the organism's body

Correct Answer: Complement is a blood constituent
Candidate Answer: Complement is a blood constituent

Question 100.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

The antigen-antibody immunological reaction is used to
be regarded as typical of immunological responses.
Antibodies are proteins synthesized by specialized cells
called plasma cells, which are formed by lymphocytes
(cells from the lymph system) when an antigen, a
substance foreign to an organism's body, comes in
contact with lymphocytes. Two important manifestations
of antigen-antibody immunity are lysis, the rapid physical
rupture of antigenic cells and the liberation of their
contents into the surrounding medium, and phagocytosis,

~aprocess in which antigenic particles are engtulfed by and
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very often dige S 5§97aEPEPHEYEs"aHE olymorphs. The
process of lysis is executed by a complex and unstable
blood constituent known as complement, which will not
work unless it is activated by a specific antibody; the
process of phagocytosis is greatly facilitated when the
particles to be engulfed are coated by a specific antibody
directed against them.

Phagocytosis is a process in which antigenic particles are
_____byand very often digested by macrophages and
polymorphs.

Options:

1) attacked
2) attracted
3) enveloped
4) engulfed

Correct Answer: engulfed
Candidate Answer: engulfed
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